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Module Name : TET - Paper 1 - Tamil
Exam Date : 16-Oct-2022  Batch : 14:00-17:00

Q. No. Question Body and Alternatives

1 I From which language, the word "constructivism" originate ?
"G L LemoLIL] 2 (HeUT&:&D" 6T6dTm Q&F M6V 6TQWMSUNBHS 2 (HeuTeTg ?

A German
Q817 LG0T

B: Japanese
8o LILIMedT

C: Russian

gegwim
D: French
Noreha

2 2| A child learns four basic operation at primary level which can be helped to achieve the competitive examination in future which learning occurs here ?
R GLHMS QG TL &S IL6T6 Blemeuuiley &MHGLD BTG G LILILEF QF U6, TH T HTevsHH6e0 CUITL 198
BB 6&H6T60 M6 QLIM 2_FHa|aIS! 6T6IEINS HMHME ?
A : Insightful learning

2 Laml & afls smHme
B: Trial and error learning
PweTy euplé HHM6L
C: Learned by conditioning
2,58 Blaneulmisss &Hmey
D: Associative learning
QBMLIHUOSS0 SHD6

3 3 | Which one is the mental activity Schema ?
G LD 8> 8 600TL_ QUM MIGT 6T LDEDTLD FTHHS VSO 2
A : Eating

FrllGH&ev
B: Numbers
6T600TE 6T
C: Figures
2_(IH6UMI& 6T
D: Problem solving
Fj6 &TewTeL
4 4 | The learning process considered as :
(i) Changes in behaviour.
(ii) Purposeful and goal oriented.
(iii) Involves new ways of doing things.
&HMHMEL 6TETLIG :
() BL&emSUN6L gHUGILD LoMHDLD
(il) G ema LDHMILD GM&CHTET 2_enL WS
(i) B W 2)801Genmuilel QFW&H6T Q&FUlagl
A: (i) and (ii)
(i) LoD DILD (i)
B: (i) and (iii)
(i) Lo YLD (i)
C: (ii) and (iii)
(if) LOMHMILD (iii)
D: (i), (i) and (iii)
(i), (if) LD QYLD (i)

5 5| Somu learn the alphabets in class one that, helps him to read fluently in fifth standard is associated with :
GFMLD H60T NGV QUG LILN6L 6T G SI5:GemeT FflWmg MIH S G18MesoT LG 60T eLO6ULD BBHSTID 6UEGLILI6) 3616TM6
FO6TIONG LIGGS (DILHMS. @)5H08 W SHMHM6) UM ?
A Meaningful Learning
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QUITHET 2_60oT T H &I &MHMm6L
B: Learning through concept object
2 _(IH6UMRIGHE06TEH 6G\&MeuoT(h & MMV
C: Repetition of learning
ST @D BeTRID SHME
D: Associate learning
B\METITS S18 &MHMeV
6 6 | A student thinking ability facilitate by :
62 ([H L Mevor6l6ofledT FHGem6nTs HM6dT GLODLIL & &TT6uoriD :

A : Learn by memory
LOGTLILIMLLD Q&g M6y
B: Learning of symbols
GSIWH &emer &MmLIGTeL
C: Learning of experience
S| EILIOUMHIGHEM6ITL GLIMIEIST6V
D: Learning of behaviour
BL &G LOMTHOHSSTE
7 7 | The music coming from the radio, someone talking and noises from the Street as an example for which nature of attention :
amQermelulled BB & e @enF, g maillev FlevF GUGD F&HGHD CLIMETMEME 675565 SHaler LisoorLIm &
THGHSIHEHTL(H ?
A : Attention is focussing of conciousness on a particular object
20 GOIULLL QuTheTle Wl &eueTld QFa)sHsaug]
B: Attention is constantly shifting
H6U6TID QSTLIHS TN Q& meuorCL @) (H&SH60
C: Attention is Selective
CHIHOSH(H&HGSLD &6U6ITLD

D : Attention is a state of preparedness

WSS Blenevs &l &eueurid

8 8 Verbal test items in Wechsler's intelligent test :
Qaugenevl Historeoor Ml G&MEHemeTuiley @ L DG LIMILD Q& THECEF M6 60U 6T 6T600T6001 1856015 :

A: 5
5
B: 6
6
C: 7
7
D: 4
4
9 9 | Which one of the following is incorrect pair ?

LD G 600TL_6U (D MIET 6TS1 & 6)MITEOT @) 6)600T ?

A Sensorimotor stage - Repeating change behaviours
Levesflw & & Blemev — QETLIT L G0 G LOmHmLD
B : Pre-operational stage - Egocentrism
QFWNIGE (LML L Blemew — S6TenLnl Blemey
C: Concrete operational stage - Animism
L@GLIQUTHET Blemey — el Ld
D : Formal operational stage - Decision making
BBHSHIE Blenev — LPCIHSESLD Fmedr

10 10 | The students aware of the presence of charts hanging on the walls, the teacher activities and students activities who sitting beside along with perceiving the
information from the blackboard as are example for :
LD MesTeU & 6T UG LILIEmMUN6D &auifleb QG MmhIGLD eNeTd s LILIL MBI LS Wy Q&FWwWeLITHISET DMHMILD 56078 @ (L 6T
DT HSIETET LD Teooreu [J8 66T Q& W6V LIT(H 86Mm6rT &6 6nf1LILISIL 60T & (B LIV & U6y 2_6iTerm 6l ey & emerT U Lh
HeuenlILILIG eTEHHm& W LoD & 1B\ SSIHSTL[H) 2

A : Attention is focussing on a particular object
@@ GOILLI L Qurerfler g Halerh QFalssials
B: Attention is constantly Shifting
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HeUaTD QFMLIHS oMyl Q& mesrGL &) (hg S 60
C: Attention is selection

CHTHOSHHEELD HEU6ITLD
D : Attention is a state of preparedness

WSS Bletrevs & T Seausorin

11 11 According to Thurstone intelligence is :

SIT6VLeof160T & ([H 5 SILILIL. BI6toTevor M6y :

A : Made up of seven distinct mental abilities
(LD UG WITET LG LILIGOL LOGITSH MEITSH 6TV S, 60TH MG LD,
B: A single factor that underlies all abilities
2|METH S B METEHENTIILD 19 LILIENLUITS Q& T60TL Sl MMM &ITFeso I WITGLD.
C: Mainly dependent on environmental factors
G (D MIFGLD6V HITT600T &6 1G.LILIML WM G\ & T6ooTL S
D : Two factor that underlies all abilities
SIS S HMETHEMETLD G LILIEHLUITEH Q& MeooT LG @) T6uor(H) & TIeuofIWIm@LD.
12 12 The factor which does not determine the friendship :
BLemL BlFeooTull &8 Mg &ITiyeuof] :

A: Age
QWG

B: Height
2 Wb

C: Weight
6T60 L

D: Neighbourhood
S|(BSHTMLD

13 13 Growth and development in the case of human beings for gaining maturity is a combined function of maturity and :
GubUL L (HFFR WL QU weflGHlLLD, eueTi&ES LommID (WeTCTMMLD 6T&C6TT(H )6l HE Q& WML TH
LRSI ?

A : forgetting

DS SV
B: learning

&MV
C: respecting

DHHH60
D: loving

26T QFUISHE
14 14 Without knowing the life culture situation of a child, one cannot understand its normal development. Who stated this ?

GBS WIDIEnL W HTEFTT eUMLDEMS GLDBlen6y AMWNSI, HFenL W G WeVLITer euaTFFFenw Liflbal
Q&METEUG @) WIS, @) H& FonDEMM Fon MIWLIGI WITIT ?

A Freud
SUFmTU®

B: Erikson
eTifl & & 60T

C: Bandura
LI6BoTIq W J T

D: Vygotsky
VSTV E

15 15 | Beginning in the pre-school years, empathy is an important motivator of altruistic behaviour. What do you understand from this ?
Lieiterfl (60T Ligheu @b, ThLISH 0, LM Blemevuiley @ BESI &6oTement MNUILD LI6oTL]|, QLIMSI 6V LIGtorenLl H&LI0Ms
2615GERMS. @V QBHS STHIGET AMaig Wmsl ?

A : Actions that affect another person with expected reward for the self.
SR &6 6THTUMTSS QaU@GLmargens QUM LmenT UMTH &G QFwede FH UG SH6.
B: Actions that benefit another person without any expected reward for the self.
SETHQG&HET 6Tl G Q6lUG DTS S 6TH FLMTTTS LIM([HEHE HetTemin LIS G Q& WweSey FOILIG S6v.

C: Actions that benefit another person with expected reward for the self.
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SAOTHQHET THTLUTISHS QeUGMTTSamS QLM LN [HEE HeTenln LIS @G Q&FWwedey FEH LG &Hev.
D : Actions that affect another person without expected reward for the self.
SETEQ & 60T 6T61aN & QeUGLDTaTS S THFTUMTTTS LImen ] LUTH &G Q&Fweds) FH LB SH6.
16 16 | Which among the following is not correctly matched ?
G LD 58 600TLeuM MI6T FflWMe QUTHSSLILILTS E)6600T 615! 2

A: Formal operational stage - 13 and above
&H(HSH W6V Blemev — 13 uFH MG GLoev
B : Pre operational stage - 2-7 years
QFWAIGES WHLIL L Blemev —2 — 7 1,680T(H) &6l
C: Sensory motor stage - 0-2 years
Ljevenfl g & Blemev — 0 — 2 24,6007 (H &6l
D : Concrete operational stage 7-11 years
LIGLUQUTIHET Blemev — 7 —11 2u,600T(H & 6T
17 17 | Reciprocal teaching is associated with which among the following theory ?
GGG 6THS CHITL LML (HLET He060 B HHLISH6 QS TLTLIEL WIS ?

A : Piaget cognitive development theory
NwmrGs MG mer euemided CamLum@p
B: Vygotsky theory
MGG CHTLLTH
C: Erickson theory
erifldaear GammLum@
D: Pavlov theory
LimeuGevmey Ga LM

18 18 | Raghu will always follow the traffic rules of the road. What do you known from Raghu ?
7 TLQUITWSIL Fmemev ellGBemnw LNerummieury. @Hed»GHa p@emeult L) B ojmleug wngi ?

A : Obey the teacher
2T WGHSS SLpLIG S50

B: Not obey the rules

AP & EH5EG HLDLIGWIMEmLD
C: Not obey the teacher
2P WGSS BLpUWTELWD
D: Obey the rules
NHHEDHES SIS
19 19 | When Ravi saw a snake he ran away fastly and escaped. The hormone helped him by increased secretion during this emergency period is

LIMben LI &60orL QUMW G Tal CaussLnns @196 SLUILN6TT6r. @\h& {aFJHTVSH 6 eI G 2 Seillwl ammiGLOTeT

A: Thyroxin
60 G 1T I8 &) 60T
B: Pituitary
N w L
C: Adrenalin
3JL_fleorell 607
D: Renin
Qyeofleor

20 20 | The ability to understand one-self and the environment is known as .

S6Ten 6T D &MHMILILIME G LpBlemevenwud LilbSI6 & meTEpLh L06oTs ) mem et GTTRGMITID.

A : Cognitive ability
S|pls5e Hmeir
B: Object performance
QUITBE 6T BlemevLlL] &G eTemLn
C: Conservation
LM MT& S 6TEmL0
D: Sensory stage
L|6V60T Blemey
21 21| Among the following, which one cannot be imparted to students through lectures and text - books :
LD G5 600TL_6U (D MIEIT, LOMeooTel F&H 6L LD LML L& &80 whmild elifle)enT eneubd LGS WIGWTSSI
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A : Formal education
(WEMWITET &evedl

B: Moral education
RWEHSH Hevail

C: Science education
gmilailwieh sevell

D: Non - formal education
(WEMETTT SHevedl

22 22 Find the correct answer.

Statement (A) : Family is an example of the primary group.
Statement (B) : Family is very close and intimate as a social unit.

Frflwmer eflemLenwid &eoor(H LN &&HalD :
Fahml (A) : GOLULD WH6Tn GWalhE& R 2 &MJerMEGLD.
Faml (B) : GHLOLLD @7 FeNG JVHTH QBIHEHSH DTS THEYLD, @) 6008 &HLOME0TSHTH|D 2 6TeTSI.
A': Both (A) and (B) are wrong
GOl (A) & (B) @Uetor(hLd Heum
B: (A)isright but (B) is wrong
(A) &l parmed (B) S6um
C: Both (A) and (B) are right
() & (B) @pevor@b &1l
D: (A)is wrong but (B) is right
(A) ey syerTey (B) &ifl
23 23 | Knowledge of Educational Psychology helps the learner in the task of .
sevell 2_emallwiey LMW SNlaUTeTs &MHLIITSEH5E 2 FaHMS.

A Knowing one's self
Betreneor UMM il
B: Solving classroom problem

aGLiueam NFFsFamearenus Si5o

C: Helping in evaluation and assessment
LH LI HS OO eaTefl14HE&
D : Rendering guidance services
LOITEUOT6U & @5 & & Ul ST
24 24 | What are the following roles taken up by learners in learner centre approaches ?
(a) Co-ordinator
(b) Evaluator

(c) Mediator

(d) Critisiser

HHMEL MW 2|6 & (PemMUN6L, &6 Lieool&eTma: GamliL® eugl
(a) 6R(H I ) 65)600T LILIMEIT T

(b) LG LT ey

(c) @emLellemeT Sy MHmiLieuF

(d) NDTFSHT

Az (a), (b), ()
(a), (b), (¢)
B: (a),(c), (d)
(a), (¢), (d)
C: (), (0),(d)
(), (0), (d)
D: (a), (), (@D
(@), (b), (d)
25 25 | A child at primary school tries to comfort its peer but fails and instead escalates its ones own anxiety. What does it convey ?
QBTLES Bleney LIaTe & GLoHeng STl F& Lomerelsmer bHMNLGSS WWDHF SS CamevallubmSermey,
SIBBOLW UFODEHMS 24P 5 5551 QS s Q5 flell&H s 2

A : Sympathy leads to empathy

ufley, Ny Blemevulley QbHS! Hetremen Mlwt aubiBLSSIH DS
B: Empathy leads to sympathy

UpF Bleoeuiles @eHS seraear 2imfige, ufley urgmliL afibL SS1H DS
C: Sympathy does not lead to empathy

ufley, o plenevuileh @BHS! Setreneor iMflwl el LS SIS Lene6v.
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D : Empathy does not lead to sympathy
Nmi plemevwiley @ @mHS Setemert g6y, Lifley LmTmLL aulfl L &SleuHlevemnev.

26 26 | Which one is wrong characteristics of good teaching ?

FAMHS &MHLING S0 60T LIGTLI&HEH8ES QUITHBHSTSS! :

A : Self - motivation for learning
HHONIG GG S60TeN60TEH S TET 2618 &6 & &6V
B: Focuses on selected information
GOUIULNLL &6 emWLILBH S SIS 60
C: The co-operation of teacher and headmaster
SeneeaWTAFWBESGLD, S FWHEHGD G 6mL GUIWLIT6T HLLIMEY
D : Emotional stability
LDETQ U (LDEFS [Bl60r608 & 60TemL0
27 27 | Which of the following is an example of effective school practice ?

L9 65T6u (HeuetTOU HMIGT FNMBG LieTer U 60T LIsToTemLI 2 60T j & SIaU! :

A : Constant comparative evaluation
Blemeuwimesr UL (B LHLILTE
B: Corporal punishment
2 L6V FBIWIT6OT & 600TL 63607
C: Individualized learning
SeoflliLL L wenmuiley &Hmey
D: Competitive classroom
GUITLLLY WITeDT 6U@GLILIemMm
28 28 | Find out the correct option from the following.
Encouraging students to participate in the school cultural activities will :
(a) Enhance self confidence
(b) Develop interests towards learning

(c) Improve self esteem
(d) Control emotions

G LD &8 Mevor LieummI6T Fflwmereng s G He&H &S LD :
Leiterll @ 6v8:8) W 618106 S 61160 L MetoTel 78 6m6mLI LIMIGS M & 268 & 6elLILIG 60T eN6VLD 261 T8 EHemL (L

(a) Hetreor DL G emn&Ben W GLODLIGH S S6VITLD
(b) DI SLFuUSMS gHUBHSSEVTD
(c) 60T LH LI 2 WIFSSH6VTLD

(d) LETAEWFFR WS HLHLULUBSHEVTD

A (a), (b), (c), (d) are correct
(@, (), (©), (d) - &f]

B: (a), (b), (c) only correct
(a), (b), (¢) LG &ifl

C: only (a) and (d) correct
(a) & (d) LD &1fl

D: only (b) and (d) correct
(b) & (d) LG LD &ifl

29 29 | Sequence the steps of project strategy in correct order.
(a) Providing a situation
(b) Planning of the project
(c) Choosing and purposing of the project
(d) Evaluation of the project
(e) Execution of the project
(f) Recording of the project
QFEWLH L wenrmuler L Blemevsemar &flwims auflenga LRSS aLD
(@) Gme AeflGHe
(b) QFWLB_LGens HIL LGS
(¢) QFWLHL LGS CHTHOSH &S METer GBTe:SHI0
(d) QFWLHIL L GHeng LH LI HIG60
(¢) QFWLH L L GG QFWeLI(H &SI560
(H QFWLH L LGS LUF 6| Q&G

Az (@), (), (b), (e), (d), (D)
(@), (¢), (b), (), (d), (D)
B: (a), (b), (c), (d). (e), ()
(@), (b), (¢), (d), (&), (D)
C: (), @, (), (d), (c). (b)
), (a), (e), (d), (¢), (b)
D: (b), (c), (D), (e), (d), (2)
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(6), (¢), (D), (¢), (d), (2)

30 30 The pie - diagram shows the teacher using different strategies for different
concepls.  Observe the pie - diagram and answer the following :
) - 10% Reading
20% Hearing oo
30% Seeing « \—'r’ $0% Performing
I ) activities
50% Seeing < \\
and Hearing
|
~— 70% Saying and
writing
While involving in a project work students attained % of learning.
Students gain % of achievement during lecture class.
S Eflw vevells s(mHEHIBSnT &MHLNGES Lsvalls HMHLNEHS6 (emmSHeneT
LwsiTU(HiS&IeuenS @llsnLl susnFULD (OGS DS, Sens 2 HmICHT&HE
uglsu el :
20% Cal s & ) 10% Ladgsd
30% urigsd + | \r‘ 0% Gewdunfissnar
Bepigpd
50% uinfibges 4—“\—
wpmh Gl e \(/
‘-1_,/|’> 70% Qardgugd whh
TEpEIHD
. LomsTeuT 6T QFwedll L Feng CumelamsTausmsy % S&hmemey
SyenLElesTmsaTT
. afifleysmr su@ELIN6y o memTeuT 6T % MDY SemLeney
QumIElstTmesTT.
A 90% ;20%
90% ; 20%
B: 70% ;30%
70% ;5 30%
C: 90% ;30%
90% ; 30%
D: 20%; 70%
20% ; 70%
S "WIMem60TE: G LD Limemeotd&GLh Fifluima Cumiieill L gl" eTedroy SFLiLiefgg e :
A:
Q@ &6t med 7 T L 63T
B:
(peveurt
C:
LSumeb
D:
W flWITeng [T 6T
N "&HHUNeT T5HLAGTAN" 6T60TM GRNDEMEF LI LIML6MEULT LIMIQUIGNT :
A:
UL &C&HTL6v)L 860 TEooTS H& LD
B:
H(®.e9.5.
C:
85600T 60T & IT&F 60T
D:
BID&SH6 &ellEh
33 (33

"&L6V BT (0&HS HL06h GLD eTL60" eTanid eurfl @L b QUMM HiTev :

GET IT ON

Google Play
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A
QTS MUILNWILD
B:
150D 0] 6t 60T
C:
H®SGDET
D:
SMF BTHUSI

4 4 . . .. .
3 3 Whats app 6TETLIS MG @) 6M6uorITeT SLADEF Q& T6V :

A
P& HT6L
B:
L|6V6oTLD
C:
QIS SETLD
D:
1O 63T 60T (65 & 6L

35 35 . .
"85 600T6001 1" 6T60T LI &SI

A:
@) 7600719 T600T () Q& 6T Q& TetoTL GLOMEmEaTILITE QTR SHSHLILIBI6USI.
B:
@) 76007 L9 [T600T(H) LY 6T Q& TE0OTL TSN W) QGTH&HSLILIBIUSI.
C:
@)\ 760019 T600T(H) 2119.56T GG TEO0TL 6TSI608, GLOMEMEITWITEV QG TH HSHLILIM6USI.
D:

@) 60T L9 [T600T(H) LQ FH6/T Q& TE00TL 6TS5160)85, GLOMTEMEDT, @60 UIL] SN QFBTH & &HLILIGICUSI.
36 36

QFLIWEH5HCS 2_ [l 6T5Iemd CLOITEDGITHEMET 2 601 [H60) L& & & Q& Teuor(h eUbH e :

A:
2 Geu.&m.
B:
@um.L. GeailieTener
C:
@ JM&FLDMennl1& 810
D:
L69luL i G&s & & eor

7 Lmeurmild LoF&H e BH S W E&LD HTealld WTHemL W [B6én6oTe)&Hen6Td &bl BMHHeTma ?

A

TEIQWIT&H 6T
B:

21,605 el wiyas 6T
C:

2 UNfl&&sieser
D:

QFeUeNBHS W& 6T

S Fammi 1 : LN CUFSFH QLTHGEGL WSS QLMP &G @aLGCW CaumiLim( G6Vemnev.

FaMmi 2 : CLIFSH QTN 2 608 QIPEGE eTeTMID 6TWEH S QMSen W G 6v&ER W QLG @ 6T6TMILD Fn MIAI]T.

A:
Fa MMl 1, Fammi 2 &ifl

ol 1 &, mbhmi 2 Heum

Sahml | Heuml, SaHmi 2 &ifl
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@\ T6T(H) For (D MISE@BLD H6UMTETEN 6
¥ ® Fahol : QFTL6I6T GMIF TWHHMHG L LHeTS Cauml 6105 S MBS 2CH QUITIBMETS H[HeUS! SHemL L1 GLImed.
allaTg &L : QFMELeI6T & T @MIF TWHHMHGSLI LG 6 'Qu&HTILW, 'eu& T @mIS) 6NWSHMHGLI L6V 6T LD’

S LIGLIMeIWITE au(BLD.

A:

Famm &ifl : efleng s Fifl
B:

Fa M Faumi : eN6eTd &0 Seuml
C:

o oy : afleng s &ifl
D:

Famm Fifl : ellen&&1h Haum

40 a0 &renrsH Weveu ereorm Lflaflereny oL&ERW G
A:
BLOLGEGW
B:
6Tevor GLITTWILD
C:
FRISLIL6T & W
D:
2169 58 HRmIGH6T
L GHHAW leTelleb LSLELMM 'SMHBICHWILD' &Tan6THETTE QLB CF & @G meL LD :
A
GaMwbLSSTT
B:
) 6007 (H) & & 60
C:
HeULT
D:
G&euld
42|42 M GUITH 6TedTLISH6L 'L06V' 6TetTLIS! :
A:
oSy
B:
auedlemin
C:
allemeTwimL_(h
D:
aMSHLD
43 |3 euFally TG eoTImelT :
A:
allemesTLp Mo
B:
elemeTAWFFLD
C:
QUWEIEEFLD
D:
Qs flBlene allemearQuIFFID
A S0 er afy alleneTwML LTS HHBSLUILLTSS :
A
FleulbLILD
B:



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

LOHCUTT
C:
L enLLILbS!
D:
B eflemerwim_®
454 QFIQUI6V L& 56T LLES) [HIHS60T. IILDSHTE @) (HIHSH60T.
A:
3G
B:
Sjeme6l
C:
%8l
D:
SI60)6U S 6T
19 L6 eremL B &FILSTE FHLG LD CBITUISEB6T 66T
A:
X IR
B:
STUEF6
C:
UOMIGHTW
D:
@Usss QsBTHLILY
TV sng sumg e :
A:
SMTLAIMGGLIWIT
B:
FlemerTWmTGQUWIT
C:
Liesor LIM@&G LW
D:
Qs MlleTG@LIWF
R GLIGSOGUTH6T LIenL LIL|5EBheT 660TMI :
A:
656G &8 60D LIG LD
B:
SUWemeud SHeulbLIGLD
C:
FrCUBHT LLLITELE GMelEHT
D:
GeaRLMY LeTenerssLdp
A B ([(HEU6TEBAUTTeooTemn L& GMILILNL [H6ML (LD M 26007 (HL60T 6T8S6M60T 21,600T(H) & 606 Jo L L Geuetor(HILD ?
A
33
B:
30
C:
31
D:
34
0|50 BLO&G CHTUI TRTLILE F&HS Gammba CBITUISET 6lI& 8 TTeorLd LWeTLDH &S5 6.
A
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QSHMTW 2.7l
B:

QWMeNs 2 JLb
C:

QFWMHEMS 2_[JID
D:

25 & BIULTLES S0
LSt 'SLALD QLM T — 6T6TM BIM6V TG W6UT :

A:

QBMLSTLILIWIT

56V6V[H 16U 60T T

SmeusTEneuy

@)6T MG MTauLY. & 6T

S R Sb 1581 96T STLIQW A flWrs QUWenTCW oG QUWITTE 606U5 51866 & TeuoTL6U :

A

Urgrswmy
B:

LTy & & & 6ot
C:

&LULTSS D
D:

SICWISHSTET

S "&CHGF BMeUTULIE FRIGLD" — 6T6dTM HLILIG BlMIeUETSHmS 6.2 .F. UH 6| QFUIG 216000

A:

1906 LD 24,600T(H) Q&FLIL DU 16
B:

1906 241D 24,600T(H) HECLMTUIT 16
C:

1906 410 &4,600T(H) HEULDLIT 16
D:

1906 LD 24,600T(H) L. FLOLIF 16
54 |54

alleners Qg Men&uiley ausvedlerid L& M :
A:

SIS ST

LT LILMSLD

@uiug Guermy

SHHCFTMI

SN S5600T QUIMTIHENBLI L|6oT6l BIT(H 6760 B (A BevCeuadlufedr AmLiemut Gurmailwieu :

A:

LD M6u011 & & 6UMTE &[T
B:

HO@TOFLLBHS
C:

CFEHRLOMY
D:

&ML (H G 6U6L
56 |56
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'QUTLY QUBHIGR GGl 6T6UAIE G E)60)600TE O &F TN & 6IT ?
A:
Q& mlullenevor
B:
615\ ifl 63 6v0T
C:
Grbflem 6uor
D:
&1 69 6t 60T
7 QUWIFEFQF TV, alemeTTFQF ML 2, UMM FetTem oW WGH LIS eUBeUS) :
A
2,&EUWIT
B:
e TS0 BT &
C:
@eLE QF ey
D:
2 flg Q&me
Q&6 AL 'QFWIeuLt LIFeuo]' 6T6edTMI L L &GS LBLDHS HedmSHS5 S L6l ST FHET Q&HTEOTL S .
A:
699
B:
799
C:
599
D:
999
59 |59 . .o . P .
&H600TG6uuT TL_L_LD — @) & Q& MeL6eSl6dT QLIMIBET
A:
ALG
B:
@U&&HLID
C:
QUITMIEDILD
D:
S6aTL
60 |60 @emhIe&TY - N He&WsIs :
A
@6+ Q&I
B:
@\ 6TemLD + Q&I
C:
@)\6MHI + Q&Y
D:
@6 + Q& My
61 61 | Which is the correct sentence form ?
A : Thave two brown long sticks.
B : Ihave two long brown sticks.
C: Ihave brown long two sticks.
D : Ihave long two brown sticks.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

62 62 'Which can be the correct question for the following sentence ?
"I found a butterfly sitting on my shoulder".

A1 Where was the butterfly ?

B: What did you find on your shoulder ?

C: What do you find on your shoulder ?

D: Did you find a butterfly ?

63 63 Complete the conditional sentence.
If I had studied,

A: I will pass the exam

B: I'would pass the exam

C: Tcan pass the exam

D: Iwould have passed the exam

64 |64
Fill up the following sentences with correct phrasal verb.
(i) We vou last night but you weren't home.
[ii) The rugby match at 3 O' clock.
(iii) | have to my sick grandfather.
A : (i) called on (ii) kicked off (iii) look after
B: (i) look after (ii) kicked off (iii) call on
C: (i) called on (ii) looked after (iii) kick off
D: (i) called on (ii) took away (iii) look after
65 65 If you want to end a conversation, you can say
A: TI'moff
B: Good bye
C: Stopit

D: See you tomorrow

66 66 | Find out the correct pair :

A oftime - as

B: ofplace - because

C: of concession - even though

D: of comparison - if

67 67 | Manoj Das was awarded Padma Shri in 2001 for his contribution in the field of

A: Sports and Education

GET IT ON
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69

70

71

72

73

B: Artand Education

C: Literature and Education

D: Artand Culture

68 is a martial art form, practised from the days, of the Tamil Kings.

A : Parai Aattam

B: Silambaattam

C: Bommalaattam

D : Poikkal Kudhirai Aattam

69 | 'She pressed control and enter
And disappeared from view'
How did she disappear from view ?

A : By pressing copy and scan

B: By pressing Inbox

C: By pressing recycle bin

D: By pressing control and enter

70 | A 'dog whistle' also known as 'Silent whistle' or :

A : Noisy whistle

B: QGalton's whistle

C: Mysterious whistle

D : Ridiculous whistle

71 Choose the correct synonym for the italicized word.
Isaac was chiefly remarkable for his ingenuity.

A': common

B: notable

C: neglected

D: unknown

72" In a certain code language, if BUG=30 and ALMS=45 then CADET=?

A: 70
B: 24
C: 33
D: 37

73 Pick out the three syllabic word from the given words.

A': patriotism

GET IT ON
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B: international

C: water

D : beautiful

I G Matech the following :
A
(a) The suni rises in the east. {i) Interrogative
(b) What are you doing 2 (i) Imperative
(c) Come out. (iii) Exclamatory

(d) Oh! What a beautiful flower it ist  (iv) Statement

Az (@), (0)-(0), ()-(iD), (d)-(iii)

B (@)-(ii), (b)-(id), (¢)-(iv), (d)-(i)

C: (@-(), (b)-(iid), (¢)-(iv), (d)-(ii)

D (@)-(i), (b)-(iv), (e)-(iii), (d)-(i)

75 |75 | Which interjection do you use when you are in a happy mood ?

A: OH

B: HEY

C: HURRAH
D: ALAS

76 76 | The teacher wrote the word 'Cheerful’ on the black board and asked the students to write similar words. Among them which is not similar to "Cheerful" :

A: Bright

B: Contented

C: Gay

D: Vow

77 77 | Find the name of the game as per the following clue.

It's played on digital or paper from left to right, up to down with puzzled letters.

A: Cross word

B: Dice
C: Maze
D: Sudoku

78 |78  Which language drill helps students to improve their pronunciation ?

A: puzzles
B: riddles
C: word grid

D: tongue twisters

GET IT ON
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79

80

81

82

83

84

79 | The poetic form which has five lines and expresses feelings in a funny way is :

A: Elegy
B: Sonnet
C: Limerick
D: Ballad

80 | What is the original form of the clipped word 'cab' ?

A: cabbriot car

B: auto cab

C: cabbs

D: cabriolet

81 | Dhayalan hasn't met his friends December.
A from
B: on
C: since
D: at

82 | A person one who employs - is called as :

A: employ
B: employee
C: employer

D: employment

83 The poem which has only eleven words in five lines :

A : Diammonte poem

B: Sonnet

C: Cinquain poem

D: Limreck poem

84 | The underlined word in the sentence describes

He ate biscuits twice a day.

A: Adverb of time

B: Adverb of place

C: Adverb of manner

D: Adverb of frequency

GET IT ON
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85 85 Pick out the figure of speech from the line.
From simple sheep; and such are daffodils

A: Similie
B: Imagery
C: Alliteration

D: Personification

86 86 | "All of the sights of the hill and the plain
Fly as thick as driving rain."
The poetic device used in the above line is :

A Metaphor

B: Simile

C: Personification

D: Alliteration

87 87 | Pick out the correct sentence mentions the meaning ‘near the bed'.

A: There is a table besides the bed.

B: There is a table beside the bed.

C: There is a table on the bed.

D : There is a table side of the bed.

38 88 | [ create a new one for you and make it suit you. Who am I 2
A: creator
B: author
C: tailor
D: major

39 89 | When a duck can quack, I can squeak. Who am I ?

A: A Rabbit

B: APig

C: AFrog

D: A Donkey

90
Match :
Animals Sounds

(a) horses (i) squeak
(b) donkeys (ii) grunt
(c) pigs (iii) bray

(d) rabbits (iv) neigh
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91 91
92 92
93 93

7 GET IT ON
Google Play

Az (@) - (i), (b) - (), () ~(iii), (d) - (iv)

B: (@) - (@), (b)- (@), (¢) - (iii), (d) - (ii)

C: (@ - (i), (b) - (i), (¢) - (D), (d) - (iv)

D: (@) - (iv), (b) - (iii), () - (D), (d) - (ii)

Three consecutive integers, when taken in increasing order and multiplied by 2, 3 and 4 respectively total upto 83. Find the three numbers :

gmi alflensule 1M\ G S16 Q& TETETLILIL L et S S5E0H\SS (D(WDEHSET WeaMGU 2, 3 LDMHMILD 4 9460 QLIHES &
G _LQ.6UTITEV 83 RGOS GLD 6Tevl160, 35S eLOGIT N 6T600TSHE06ITLLLD &5 60T 5.

A: 56,7
56,7
B: 6,7,8
6,7,8
C: 7,89
7,8,9
D: 89,10
8,9,10

Geetha and Rani are moving in the east and west directions respectively. The angle between them is .
G &M mHmILD Frell WenmEW &HpdE HMID CMHEG Hanasefle QF R T, @ ealHaH G CWw gou@®LD
@& ITeuuT 366y

A o
0°
B: 900
90°
C: 3600
360°
D:
180°
180°

Find the missing number.

A: 8
8
B: 18
18
C: 48
48
D: 15
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94 94

95 95

96 96

97 97

98 98

Which of the following is a straight angle ?
QaMH&SLILLLamml6 618 GBI Ca& TS M &E &inlh ?

A 600
60°
B: 790
70°
C: 1800
180°
D: 950
95°

Subtract smallest 5 digit number from greatest 8 - digit number :
1A& L1 Qulw 8 @ 6v&:& eTetorenniley @ BHS W&EF W 5 E)6V8:8 6Ter0Ten)600T &L &G 6L H60)L_85(EHLD 6T6uoT :

A 88989999
88989999
B: 99989999
99989999
C: 99999988
99999988
D: 99990008
99990008

Which of the following illustrates the inverse property for addition ?
L9 6576 (H 611 60T6U (D MI6IT 6T T L L6060 GBILOMMILT LisvorLNement elemds &R ma! 2

A1 1
S|
g 2
1 1
sy
g 9
B:
1 i =
B
? 9 9
1 1T 2
e
2 o 58
C:
l+0=_l
? ?
l+0:l
2 9
D:
A g
9 ?
-
k4 9

In the following shapes, which shape has maximum number of line of symmetry ?
B G E0TL 6119 6UMBISET6, T8I B &M FINEET C&HT(H G606 G155 Teuor (h) 6Terg! ?

A: Square
FSITLD

B: Rectangle
Q&FelaIsID

C: Circle
eI L LD

D : Equilateral triangle

FLOLGSS (P&HGSHITE0TD

S

P

In the above figures which three have the same shaded area 2
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P S
CuhestoTL LLmigssifley 6Ths epsoTmlssr HlosdlLiul L LgSludlsiT Lyl et
FoLb ?

A: PQR
P,Q,R
B: Q,R,S
QRS
C: PR,S
P,R,S
D: PQ,S
PQS
9 99 | A part of circumference of a circle is called .
ol LUufBuller G UGS 2UGLD.
A: Chord
5 60T

B: Diameter
il Lib
C: Circular Arc

QL efléh
D: Radius
e
100 100
D
C
A 0] B
In the figure, ZBOC + ACOA is ;
D
€
A (0] B

uLgSlso LBOC + ZCOA eTsiTUS]

A : an obtuse angle
eNifl @& mevor LD
B: astraight angle
GBIy 8 @& MeuoT LD
C: aright angle
G\ & MBS TeuoTLD
D: anacute angle

& DIMIGSTevoT LD

101101 Eind the 14 term from the last term of the AP 3, 10, 17, 24, 31, ... 213.

3,10, 17,24, 31, ... 213 6160 S (HSQSTLT auflenauleh @mS 2 miiNe®BH S 14 eugl 2 Ml 6Tg ?

A 140
140
B: 108
108
C: 122
122

D: 133


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

133

102 102 Raja has Rs. 58500 and wants to divide it between Vijai, Vimal, Vinoth and Vicky in the ratio 3 : 6 : 5 : 4 who will get more ?
greamedlLLb Rs. 58500 2_6iTang). g ement efleglil, eflney, ellGeorms mmih 6165 @enLullev 3:6: 5 : 4 eTetrm R HS5H 60
USRI THSef&ERMY. @elisefle WTHeHES P &IMEHES HenL&ESLD ?

A: Vijai
aflegul
B: Vimal
ailo6y
C: Vinoth
allGerg
D: Vicky
el &&

103 1103] Abhi has 20 oranges. If 10 oranges was wasted and he ate 4 oranges then, what fraction of remaining oranges was not caten by him ?
SLIUINLLD 20 2L TEHS LIDHIGHET 2_6Tameor. @H 6V 10 21,TEHa LIPmhIGH6T afaormReilL L gl ISFLD 2 6TemTH60 4 24, TEH&
LILPTBIG6m 6T &MUILILLMedT 6T6oflel 216u6uTITe FMUILIL TS 24 Eh& LILpMhI&erfledr L 6dTeor LOGLIL| &T60oTss.

A 9
5
2
5
B:
5
1
5
Cc: 3
5
3
5
D: 3
10
3
10

104 104
If the numerator of a fraction is increased by 50% and the denominator is decreased

by 20% then it becomes % . Find the original fraction.

@ WatergElsir ClamgHenw 50% flaflsain, LEgHenu 20% (HsnmEsTsn
SihE LleiTaeTioTeT g % 245 wrmElng oeflsy, @iFed Slersorg e wHliLy

105 105
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Using the Pigpen Code given below :

AlB|C KL S w
GIH][ | PIQ|R v z

Fill in the blank box and decode.

O] <> 1| sl T] =
&Cup GlamHaslud (Herer N&6LssT (Pigpen) &uflui(h) LwsiTu(hlgH)
AlB|C 4K [L S \

DIE|F M[N|O T><J >><*

G|H| I PIQ|R v z

Qasrr@a'\aa;uuf_i_- @ﬂuéLsmL GlsflsuEsd Cleig HerTLiils whHnib 2 fw
&L Lhiserls BlrliLs.

] B 31 A o

E X Al M P Al D
= X Al M P A| D
B:
E X E e u il T E
E X E &4 u |l T E
C:
E X T | N|C| T
E X T | N| C|T
D:
E X Al M P L E
E X Al M P L E
106 ||106 and are the capital letters of English have one line of symmetry but they interchange to each other when rotated through 90°.
LDMHMID HW gETE e QUKW erwpssisefler CHICHTLmML L QUTMISS FLOEEF 1 2460760 90°
CHTEUTS MG LI QUIMTMIS S SFLoMMILD CLIMSI 2{6M6U86T @)L LD LoMmld Q& TETEBLD 6760160, 3i6ma&H6T :
A: NandZ
N LM Z
B: Mand W
M LoHmIh W
C: Hand X
HWooib X
D: TandV
1MoL V
107107 Find the value of 2x° in the given figure :
C
Q
240 4x R
A B

UL Elew, 2x° —6iT oIS SHTesarss.

C

2,0 4x°

A
Y

A 450
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45°
B: 600
60°
C: 300
30°
D: gg0
90°

108 -
Simplify

G262
wENHS :

{7 51 {3 4}
E -l (UG (Y- U
13 4) 137 5

A: 135

42
35

42
B: 2

65
12

65
C: 14

65
16

%]
D: 30

42

30
42

109 109

x 1 2 3 4
y 3 7 11 15

From the table the relation between x and v is :

X 1 2 3 4
y 3 7 11 15

@lsu 2L suememTuileh x LoMHMID v S&TerT GISTLTL

A: y=4x
y=4x
B: y=4x+1

y=4x+1
C: y=4x-1
y=4x-1
D: y=3x+1
y=3x+1

10110 e gifference between 108 and 12 term of the Fibonacci sequence is .

HCumerm® Qs mLfle 10 Syeug! IDMHMILD 12 SLeugl 2 MILIL| 5 EH5S S 6mL GUIWITeT eflgSH WmeELD

A: 89
89
B: 144
144
C: 55
55
D: 79
79
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e e length and breadth of a rectangular plot are 27 x 103 m and 64 x 10 m respectively. Find area of the Plot.

RO QFeuas aulgel af 6 eneruller Herlb HOILD S &HEVMHEISET (PEnMEW 27 x 10° 1S, 64 x 100 LS eTeoi16b, 945 6T LIFLILIeTeY
6T60T60T ?
A 1728 x 109 m?
1728 x 100 152
B: 1728 x 108 m?
1728 x 108 1§?
C: 1728 x 109 m?
1728 x 107 52
D: 1728 x 107 m?
1728 x 107 152

112 1112/ Find the smallest number that can be divided by 381 and 635 which leaves the remainder 11.
381 LOMMILD 635 LB ETETITGHETITEL QUGS G CUIME ISH WIS 11 85 SHLD LW&E S 6T6u0Te0)600T8: & ME00TS :

A 1905
1905
B: 1916
1916
C: 1961
1961
D: 1911
1911

113 113 The first negative term of the sequence 37, 31, 25, 19, ... is :
37,31,25,19, ..... aTedTm QSTLT euiflen&ui6ir (LnG6L G6mm 6T600T

A -1
-1
B: -3
-3
C: -5
-5
D: -7
-7

114 114 ' HCF of 396, 636, 504 is :
396, 636 LOMMILD 504 60T WSIOLM QLTSI UG SS) :

A: 72
72
B: 36
36
C: 24
24
D: 12
12

15 1S e angles of the triangle are (3x + 50°), (x +20°) and (2x - 10°) then the value of x is .

(D&CE:M600TE B 60T B8 MEu0T MBI 6T (3x + 50°), (x + 20°) LDMHMILD (2x — 10°) eTevfl6 x G)edT DGLIL]

A o0
20°
B: 350
35°
C: 500
50°
D: 450
45°

116 116/ If a polygon has '6' sides, then the number of diagonals of the polygon is :
LI6VG & T6U0T & B 60T L1816 6 67601160, 241G 60T eLnemevailL L Mkig6rfl6dT eTetoreuof]d:6mas

A: 6
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6
B: 3
3
C: 9
9
D: 12
12

117 117 What length of ladder is needed to reach a height of 8 ft along the wall when the base of the ladder is 6 ft away from the wall ?
Faufledr 2119 UuNeNBH S 6 219 QS TeneVEN6) 2 6TaT ereunflWmeTg &eaulfler 2 FFenw § 1g 2 WTSH 6 QSTH G Weflev
B em6uLITenT 676uof U 60T 1B 6ITE MG 8> & T6U0TEs

A: 10ft
10 9419
B: 11ft
11 241
C: 12ft
12 9419
D: 9ft
9 39
118 118  The line joining the centre of the circle and the midpoint of a chord is to the chord.

R UL LSH 6T 6nLDWIG S WD 626 HTeuor 60T BHHILILI6Terlen LD @) 6metorss &L CHM(H 24b& BHTel D@ :

A bisects
@ BHFLE FaMl(HID
B: parallel
@) 66007
C: perpendicular
QFBIGSS!
D: equidistant

FLOOGTEm6V6Y

119 119 If the difference between C.I. and S.I. for 2 years on a sum lent at 5% p.a. is Rs. 35, then the amount lent is :
SLETOTIA D& 5% 6T60T QUL 196G ML LILIL L 6(H QS Ten & U 6T G)(B 2460079 M & TET Fnl () eUL 14 &G0, H6ofl el 196G
@emLGWWImerT allGHWMFLD €. 35 6Teofl6v, 3G Q& Men & ulledr LH L] :

A Rs. 20000
€. 20000
B: Rs. 15000
e. 15000
C: Rs. 10000
em. 10000
D: Rs. 5000
€. 5000

120
Find the value of x, from the figure.

P
£

/N
Q R

UL G&5)68)(mibgl X —65T Ll :
P

50°
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50°
50°
B: goo
80°
C: g50
65°
D: 750
75°

121 1121 Find out the wrong pair :
QUITBHSET @ emenTenll CHIHRSH&H&HaLD :

A : Corbett National park - Tiger
STIQUL CEH W L,MmIST — L]6d
B: Gir National Park - Lion
AT CHFW LLBIGT — FIBISLID
C: Sunder bans National Park - Bengal Tiger
& IHGT6U6T CHF W LLMBIGT — aUMBIGTETLI L{6d)
D : Periyar National Park - Gaur
Qulwury CHAW LBIST - &TLQLIHS
1221122 Red soil rich in .
Q&F DL 6TTE00 160 2 F & LDMS & MeooTLILIHILD CauSUIUIGY LI6woTL| &6l :

A : Tron and Magnesium
@\ (BLDOL] — OB e
B: Lime and Aluminium
& 600T600T TLDL| — = ewiLflenf Wil
C: Potassium - Phosphoric
QUL LT WD — umev@urils

D: Carbon - Calcium

SITHLIGT — &mevadluib

123 1123 Choose the correct answer.
NALCO company started in g

Fiflwmer aflemL_enwis G5 Q&FIs%:

NALCO [Blmieieorio 2L,600TI4 60 QBTLMBIGLILILL Gl
A: 1981
1981
B: 1971
1971
C: 1945
1945
D: 1961
1961

124 1124 Assertion (A) : Egypt was rich because the whole trade of India with Western countries was only through Egypt .
Reason (R) : Ibn Batuta mentioned that Indian merchants showed brisk trade activities in foreign ports and the presence of Indian ships in the seas.

GLD GG MEmILD 6UITE GBS METE &HSH 60 &menr® Q&TH & ILUL B eTareummley Fiflwmer allemLeamnwg Cgiey
Q&FWIWeYLD :

Fammi : THLZ QF6aID QHEMNGSS BTLTGLD. Feerefley CMagH W BTH & 6L 6uTmer @) HSH W Talledr 6ueogLI0D
WD TR LIH 6T eufwims:Gel He L QLIHMSI.

STFeoord : QeueflBTL (B Slemm L& HEIG6T 6 @ HSH W 6uetol g Taerfler el miellmilILITeT auemlles BL 6l &a&E&ET GM&SSIn
&L60160 HmeoorL I L @BHH W &LILI6V&SET LMD, G)LI6T LISTST Ga MW 6Ter .

A: Both (A)and (R) are wrong
STTETLD, & MO @TeroTHILD Seum
B: (R)is not the explanation of (A)
SITTEOOTLD Fo M MU & TeoT FflWimeor 6llendh a1 G)6Vemev.
C: (R)is correct and (A) is wrong
STeorld &Fifl, Sn M Seumi
D: (R)is the correct explanation of (A)
SITIFEOOTLD o D MIE & TeoT Fiflwimeor elemdaGLn.

125 125
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Maich the following:

[a) Pollufionunder conftrol cerfificate (i) Zebra crossing

(b) One time tax for Small Buses (i) Comic book onroad
safety

[c) Pedesirian (i) 4months

(d) Swachha safer (iv) 15year

(&) Brasilla Declaration (v} Global conference

B | pEHFHeoTL LMD QLTRSS

(o) wres slGuurl GiF srarmsp (| afl&aGsrl (b unrms

b) UBW ADNBHSEESEETERT @06 (i)  FTE6 UTSISTULS
wenm aurfl @nss ASET USSHSED

(e) umgamfl fii)  =wmnnmsD

[d) &eude Faum (V) 15 eu(BLMiSmeT

()  Wer&AeSwr NysLerib (v} ugrermi (b mBErik

Az (a)-(iiD), (b)-(iv), (¢)-(1), (d)-(ii), (e)-(v)
(a)~(iii), (b)-(iv), ()~(1), (d)-~(ii), (e)-(v)
B (a)-(iii), (b)~(iv), (¢)-(D), (d)-(v), (e)~(ii)
(a)~(iii), (b)-(iv), (e)-(1), (d)~(v), (e)-(ii)
C: (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii), (e)-(v)
(@)~(iv), (b)~(iii), (¢)~(1), (d)-(ii), (e)-(v)
D: (a)-(i), (b)-(i), (c)-(iv), (d)-(v), (e)-(iii)
(@)~(1), (b)~(ib), (¢)-(iv), (d)-(v), (e)-(iii)
126 1126 Choose the correct statements :

(a) The president can dissolve the Lok Sabha on the advice of the Prime Minister.
(b) The parliament is vested with powers to impeach the President.

(c) The Chief Justice of India has the power to remove the President from power.

(d) The President can not continue to hold office until his successor enters upon his office.

Fiflwmer eflemLenl CHFe QFUIS :

(a) GLULWTEHS Senevald, Lrswnifler Luflbsiemnruiler CLFl6 D& ST aIMULIS &H6n608 8 (LOIQULD.

(b) ATFWevemLoLien L LMW GHMEFFTLIQ60T 1 LILemL U6V LITTMTEBLO6TMLD GG TEHES Henevelen] Lige Haas0m
Q&FWIW6VITLD.

(¢) @BH W 2_FFBH6TM Hmevenld BH LS @HH WS GIQWTssS Semevealen] Lisa B&Haeseumin.

(d) @BHWE GUWTES Heeual] Sardl LiGalesmeuld WY hs LT oauBaGL LT el LsalGWmESLD aueny
SLugaNuiley QSMLT (WIQWITSI.

A: (a)and (b) are correct

(a) O (b) &

B: (c)and (d) are correct

(© O (d) Fifl
C: (c)is correct

(© &1l
D: (d)is correct

(d) &l

127 1127 Consider the following statement :
Assertion (A) : Black soil is derived from Basalts of Deccan trap.
Reason (R) : Paddy and wheat are grown well in the black soil.

FaDeOD U6 QFUWIS :
FaMml : HF6 60T H&&MeTLl LIGH U6y 2 6Tem LIFMeuL. LImenmaserfley @ BHS! 2 (HeuTersl.
SITI6UOTLD : QHEV LM MILD & MBIemLD &IflF 6V LD6UITEuT 16V HEdTE QUET(RLD.

A : Both (A) and (R) are true and (R) explains (A)
Fahol LDHMILD Sresord Fifl, ST snhenm el6TeHGHmE!.
B: Both (A) and (R) are wrong
Fn DMl OMHMILD SITT6I0TLD &eUMTeTS.
C: (A)is correct (R) is false
G &Fifl HTIeTD Seuml.
D: (A)is false (R) is correct

Fa MM Saum &ryeorid &ifl .
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128 128 Who will Administer a place which has many lakhs of population ?
LI6) @6UL_FLD L0G:GET QBTN Q& TEUTL LIS &6maT BJaUTsHID Q& WLIeT Wiy ?

A : Panchayat president

GUeBTTL.F & Hemevau[
B: Mayor

Gwiy
C: Chairman

BHT FeOLIGH HMEVEUT
D : The district collector
mell L gl Slwiy
129 |12

o

Assertion (A) : Tamil Nadu does not receive much rainfall from southwest monsoon.
Reason (R) : It is situated in the rain shadow area of the western ghats.

Fahol : HUDPBTH QHTELLMHE LIGHaUSETHMN SHTeuksefley 9H& Lampaill QLmIaH 6Uemev.
SITFeOOTD : @) &1 CLMHEG QSHTLFEFR nemeuuledr emp Wenmealll LNITCHFSH 60 SeIDBSIETETSI.
A: Both (A) and (R) are true and (R) explains (A)
Fa M1, &TI6OTD @ FesoTHID &Fifl, HTT6rD Famenm ellend: GRS
B: Both (A) and (R) are true but, (R) does not explain (A)
Fa M1, HTT60TLD @) F6ooT(HILD FIfl, QL60TITEL HITFEOOTLD T MMM 6N 6TE: &6 606m6v
C: (A)is true but, (R) is false
Fa DM &Fifl, QLE0TM6L SITTEo0TLD S6uUmi
D: (R)istrue but, (A) is false
SITFEOOTLD &FIfl SL60TIT6V Fn MM S6euUmi
130130 Who headed the calendar reformation committee at 1957 ?
1957 @6V SeM&SLILL L CHHW BT ST GWaler Semevaly Wiy ?

A: Sir. C.V. Raman
F7.9.60. prwedr
B: TK. Pattammal

19.6G&. LILLLDLOMT6T

C: Meghnad Saha
GLOG6OTITE FM&IT
D: Dr. Rajendra Prasad
L&l presndHy Ursns
131 13

Phloem conducts food in all direction. Xylem conducts .
SLGETTWILD 2_600T60 6 2|60 60TE S e F&Haflild &L SSIHMS. F6elD SLSIIRMSI.

A : only water
BF @0
B: food and water
2 et HDID BiF
C: water and minerals from root to upper parts of the plant
CaufledBH S HTeUTSH 6T G LMGSHMHS BT LoMmIh &eoflomkiget
D : water and minerals from leaf to root and root to upper parts of the plant
@emevulled BB & Cau e GLD, Cauled (& HTalTsHH 6 GLo6L LIM&HSHMEGLD Hem D &60f1L0mIGHemn6Tu L
1321132 presence of which cells in phloem tissue, Angiosperms differ from gymnosperm ?

SLGETTWSH6 6THS 616N O F 6086 & ITeooTLILIBH 6US TV 21,EhFGWIMeVQLITD&ET &b CeTmevQUIFLO&H6TI6) @) (hHS!
GeumiLIHS 6TmeoT ?

A : Sieve tubes
FUVEML G LPITUISET
B: Campaniyan cell
B160)600T Q\F 6055 6T
C: Phloem parenchyma
SLGETIWLD LIMT6iTemasLorm
D : Phloem fibre
SLGETTWLD BITF&H6T
133133 Causative agents of Tikka disease in Ground nut :
GaIIG LMV SMaUTSH6V @) emevLiL6Ter] GBITUIg S T6oT &ITy6uol] :



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

A : Cercospora personata
QFFEHEHTCLTTT UFFIGeorL_ LT
B: Pyricularia oryzae
aUNGGf W enyCa
C: Albugo candida
VLGS IT G&HEvoTLg LT
D: Colletotrichum falcatum
GaHMeICLITIYeMTESLD &LILGCSHL LD
134 1134 Which is the correct sequential order of Alimentary canal ?
QaMH&S&LILL(H6Teralmle 615l 2 eora)ll LIMenguler Limamiger &ilwmer aiflenssSR rmnme 2 6Tengl ?

A : Mouth - Buccal Cavity - Pharynx - Oesophagus - Stomach - Small intestine - Large intestine - Anus

QUMW - UMLS G — QG ITEOITED L — 2_6T0T6Y &GV — @ 6mTLIenL — Bl MIGL 6V — QILIHHIG L6V — LDV6UTLI
B: Mouth - Pharynx - Buccal Cavity - Oesophagus - Stomach - Small intestine - Anus - Large intestine

QUM — QG ITETITeML — UM G L — 2 60076 & G L6V — @M T LIemLI — FMIEG L6V — LDEVEUTU — QLIBHHBIGL 6V
C: Buccal Cavity - Mouth - Oesophagus - Pharynx - Stomach - Large intestine - Small intestine - Anus

QUMUIGHG L — GUITU — — 2_600T6) 8 (G LP6V — QG TEUITENL — @6 TLIMLI QlLI[HMEIEG L6V — &FMIG L6V — LDV
D : Mouth - Buccal Cavity - Pharynx - Stomach - Oesophagus - Large intestine - Small intestine - Anus

QUMW - MGG - QST L — @) 6MT LI — 2_600T6Y & &L 6V — GILIHMEIG L6V — FIMIG L6V — LD6VeUTI

135 1135 pollination by wind is known .
SO el ID&ETHHF CFF&HMS 6TeTLIS!
A: anemophily
9|60l GLoms L6l
B: entomophily
6T6uoTLGLO M LN 60
C: hydrophily
mamL GrmsLiel
D: zoophily
&L060
136 136

Matech the following :

(a) Thyroid gland (i) Pelvic cavity
(b) Thymus gland (ii) Neck
(c) Gonads {iii) Base of brain
(d) Pineal glands (iv) Chest

srlisensT SiS6i @ (mHULNILSSIL6T ClIUMBSHIS !

()  epymif s i @EusEH

(b)  eoziosi syl (i  swsa

(c) @leTuClLmEs 2 milil&sT (i}  ewememulilen SygliLGHl

(d) Wesflwsy gl (iv)  wriyssa(

A (@-(1), (b)-(iid), (0)-(iv), (d)-(ii)
(a)-(1), (b)-~(iii), (¢)-(iv), (d)-(ii)
B (a)-(ii), (b)-(1), (c)-(iv), (d)-(iii)
(a)-(i), (b)-(1), (0)-(iv), (d)-(iii)
C: (a)-(ii), (b)-(iv), (c)-(1), (d)-(iii)
(a)-(i), (b)-(iv), (¢)-(D), (d)-(iii)
D: (a)-(iv), (b)(ii), (c)-(1), (d)-(iii)
(a)-(iv), (b)-(ii), (c)-(), (d)-(iii)
1371137 organ is mainly affected by Covid-19 patients.
GHMailL-19 @60 UMTHGSLILLL GBTWME & @G (PSHETEOLDWITS UTH &G0 2 miliL|

A: Eyes
& 60015 61T
B: Ears
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&HITSIH6T
C: Kidneys
& 0B Ios Mk &6
D: Lungs
menyuiyev et

138 138 The strong bones which balance the entire weight of the body :
2 L 6063T (LD eTemL MWD SMHIGaISHECHMM 6UIGUTEIT TILDL] :

A : Shoulder bone
CHMeTLIL6vIL 6TavILDL]
B: Pelvic bone
@G eTeulbLy
C: Sternum
IOTFELUSILDL|
D: Rib cage
afleu eTenIthL
1391139 Find the correct order of Hydrological Cycle.
BF &Fp&feow sflwns aufleneu® Ssis :

A : Precipitation, Transpiration, Condensation, Evaporation, Sublimation
wenpls Qumdley, BrmelliICuTe:®, Geflialls 56, 2L,eNWME6, LIgkSLOMS6)
B: Evaporation, Precipitation, Condensation, Sublimation, Transpiration
elwmge, nenwpliaurdel, Gefliallgse, LGm&InNgE6, HrmelCUTs:
C: Precipitation, Sublimation, Condensation, Evaporation, Transpiration
wenplIQuTle], LGREIGLOMG, Gaflielss60, ayallwingey, BrmellCuTs:E
D: Evaporation, Sublimation, Transpiration, Condensation, Precipitation
2,NWIMH, USMHISLONG, BITelCUNs G, Gefjellsse, wenpliumigdey
140 14

=)

Which of the following present in between the right and left lobe of thyroid gland ?
GTMUG ST aleugl @)L S 31L& EF&HR LG SmesorLILI(H g :

A: Pineal gland
eoflwev sy

B: Thymus
S LO6N)

C: Pancreas
&6M600T LLILD

D: Isthmus

@6 &6

141 141 The Sun is the nearest star to the Earth. The next nearest star is

L86E 10& AGH O 2 6Tar BLESHTID GHWT G AOSSBLEFESHTD o@D,
A : Aeries

Geagld
B: Leo

ST TTh)

C: Alpha Centauri
VST QFeTLmifl
D: Gemini
1A si6oTID
142 14

[S)

Find the sports connected with the air :

(i) Hang gliding

(ii) Kite surfing

(iii) Polo

(iv) Sailing

STHCOHTH QSTLIL6ML I aem6TmL (58606 &6voTL & :
(i) OB ITHIG GBe6TIq I

(i) ULLLD B SH6v

(i) GUITGeuIT

(iv) UmMILDFs &LU6eN 60 Liweoof g & 60

A: (i) and (ii) only
(i) LDMHMILD (ii) L GID
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B: (i), (iii) and (iv) only
(i), (iii) LDMHMILD (iv) LD
C: (i), (ii) and (iv) only
(i), (ii) LoD (iv) L GID
D: (i), (ii) and (iii) only
(i), (i) LOMOILD (iii) LOLHILD
143143 Hilum is related to :
AMEILD @\FHIL 6T QBTLTLIENLUISI :

A: Skin
[(F: 1))

B: Kidneys
Fabrsid

C: Heart
@swid

D: Pancreas

&60)600TWILD

144 144 Choose the wrong pair.
(a) Troposphere - Closet to the earth
(b) Stratosphere - Responsible for making clouds
(c) Mesosphere - Low oxygen level
(d) Ionosphere - Ozone layer in it
FeUMTeT @ emenTenll CHTHO S HE&HLD :
(a) 3119616 1D6ooTL_6VID — LLLAG & 2 BH6L 2_aTens.
(b) 2BH&G 66 LD6wITL_6uLD — GLOGBIGHET 2 HelTH M.
(c) @emLelerf] LDETITL6ULD — GEMMIHS 266 2,8 6n e260T
(d) 1Wienf] LDEBoTL_6ULD — 2 G&M6T LIL 6ULD S Teuor LIS M &SI

A: (a), (b)
(a), (b)
B: (o). (@
(©), (d)
C: (a.(d)
(a), (d)
D: (b),(d)
(b), (d)
145 145 Which of the following is an impure substance ?
LletTeu @ euenTeuHmI6T 6751 STULEDWMDM LIGLIQLIT®ET ?
A : Heated mixture of Tron and Sulphur
QaulLIUGSSUILLL @@L, FOLIT &HeVen6l
B: Carbon dioxide
SITTLGT 6L 3,86m6r0(h
C: Mixture of powdered iron filling and sulphur
@GS SISH6THET FOLT HeVHS &6V6M6l
D: Ethyl alcohol
THH6V 2LV HRAMTE
146 146

Convert 5% radian info degree :

5% Grrigwiemsst w&lflwims wIHMIS :

A 4500
450°
B: 450
45°
C: 9000
900°
D: 2250
225°

147 1147 yukawa force arised between :

wamaur ellend @eaummine @emLule ghHLGRMS! :
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148

149

150

: Proton - Proton

LG mLLmedT — LG ITL_L 6T
Proton - Electron
LG ITL_LIT60T — 6T6V &5 L [T 60T
Proton - Neutron

LGIITLLITedT — MW, L7 medr

: Electron - Neutron

616085 [T IT60T — BW,L_ [T 6T

148/ The relation between Fahrenheit Scale and Celsius Scale is :

suUMgeranl 9emefl 19HG&LD Q& Wwev erefl 19 M@0 2 6T6T QSTLTL :

A:

(F-32) _cC
9 5
(F-32) _cC
2 5
(F-23 _C
Q9 5
(F-23 _¢C
9 5
(2-F _ <
B 5
B2-F_¢
9 5
(23-F) _c
9 5
23-F _c
9 5

149 Constituents contains in Bleaching powder :

Fevemeaug Serfley 2 aTem LGSH LI QLIMTBETE6T :

A

calcium, oxygen, chlorine

SMTLSWILD, 91,86l e6or, &Germifler
hydrogen, oxygen, chlorine

MEML_TE60T, 21,86r0e260T, & Germifl 6ot
carbon, calcium, oxygen

SITTLIGHT, HTFIWILD, 24,8600 £360T

. chloride, calcium, carbon

&Germen(h), HTLFIWILD, &ITIFLIGIT

150/ Liquid - Solid colloids are :
Fy6l — HEOOTLD G LD HEOTF6V GLDGE00TL UMD Nl6L 66Tl :

A

Jelly
Q2606

Smoke

L6 &

Cake

(ef=¥:3

Soap lather
GFImLIL Ble®T

GET IT ON
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